i)Y zaliad) 2840 (1o alad) J2a Jiasd a3

alad] = ) Lail] ¢ cbnd o paiiad] 2l Call & 40l HLY zeliedl <& zeliall 284e

17:57:05 2024-06-10 : zaliol] 28 calod) délo) Zo i

ol ) o aall) i 423 dall de M) du il

Zap zgie (89l auill (Sl HlieN) Al 1
iy o lilborial dlin] dapasi g e 2

¢ .‘ ’l}J.Am - . . . 3

ujjl.g_\.” Ol W (< il zéqo_'d) 4

J)_ILL“;..!‘ Z;g.u s a‘]s” /‘_’w‘ L'éég Aﬁ_.:\ dxa > ‘_’\.> 5



https://almanahj.com/ae/id=26282
https://almanahj.com/ae/16physics3
https://almanahj.com/ae/16physics
https://almanahj.com/ae/16
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-06-10
https://www.facebook.com/groups/grade16uae
https://www.facebook.com/grade16uae
https://almanahj.com/s/7b8e6e
https://t.me/almanahj_bot
https://almanahj.com/ae/network16
https://bit.ly/2PuN5cF
https://bit.ly/399CQlh
https://bit.ly/3dl3Hw7
https://bit.ly/3lM7K8o
https://almanahj.com/ae/id=26254
https://almanahj.com/ae/id=26237
https://almanahj.com/ae/id=26221
https://almanahj.com/ae/id=26220
https://almanahj.com/ae/id=26184
http://www.tcpdf.org

*»

o Jaodl pdeil) aljloll & unwgo
EMIRATES SCHOOLS ESTABLISHMENT el kol

(2023/2024) colll gyl Jaddl Gle ¢lxial mezxaas Juds
End of Term (3) Exam Marking Guidelines (2023/2024)

(3) Term / Juasll
Grade 09 / gl Class / caall
Advanced poail Stream /,Lud!
Physics e Linall _
Subject / ssW!
Bridge / g4
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o Itis prohibited to photocopy or circulate the exam paper before / during and after the exam through e-mail, social media or any other means; and whoever violates this will be subject
to the followed legal proceedings.
o School Administrations, Exam Committees and Marking Centers shall take this into account, monitor violations and take necessary measures.
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Grading Guidelines / zexiadll @il g0

e If the student follows a method described in the marking
scheme, marks should be given as suggested.

e [f the student makes a mistake in a given step and continues
correctly in the same direction as required he/she only loses
the marks for that step.

e All mathematically correct solutions are accepted even if
they are not similar to the methodology presented in the
marking scheme. In this case, it is up to the teacher to
distribute marks accordingly considering the original
distribution of marks for the concerned question.
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Mark 10 Aaal
Question @ Judl
1 P=F,v
m
2 (4.8 W)= F,x (0.12 ?)
_4.8W F.=40 W.s N
1 x_0.12% = E=40——(N)
10
1 W=EFE,.dcos(6)
2 W=(40 N)x(12 m)xcos(0")
1 W=480 N.m (Joule)
1 Wiotar = 0.0 = AK=0.0
1 Because the motion was at a constant speed /A% s jug <ilS 48 al) oY
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Mark 10 da Al
Question @ Jlsadd)
1 Wtotalel,xdlcos(Hl) + FZ,deCOS(HZ)
2 Wiotq1=(5.0 N)x(10.0 m)xcos(0") + (7.0 N)=(10.0 m)xcos(37.0")
1 Wiota1=(105904 Nm) =  Wiprqu=(106.0 N.m)
r ., 1 .,
1 Wiotar = AE=KE; — KE; = o MUF — o my;
10
1 2, 1 2
1 (106.0 N.m) = > x(16.0 kg)xv; — > x(16.0 kg)xx(0.0)
5 (106.0 N.m) [(106.0 N.m)
m
1 vy=3.64 —
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Mark 10 A

Question @ Jlaad)
2 —459.67°F
1 Ty=T, + 273
1 T,=37 4 273

10 1 Tx=310 K
1 Q=mXxCxAT
4500
3 C= QAT = C= 115 D
mx (500 g XTO%g) x (45°C — 20°C)
_ J

1 €=360 1= =
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Mark 10 dal
Question @ Sl
(1kg ice at 0.0°C — 1kg water at 0.0°C) Q,=mxH
s J
1 Q1=(1kg)x ( 3.34x10° —
kg
1 Q1=3.34x10° |
(1kg water at 0.0°C — 1kg water at 100.0°C) Q,=mXCXAT
3
1 Q,=(1kg) x (4180 - ) x (100 — 0.0)°C ;:j
; 2
1 Q,=4.18x10° | 5
Heat released by steam = Heat absorbed by ice =
10 Q,+0
1 msteamXHf = Q1 + Qz = Msteam — 1H—f2
(3.34%10° J) + (4.18x10°))
1 Mgtoam = 7 = 0.333 kg
(2.26><106 k_)
g
1 A JL@MJY\ _
o
1 D |y 3
3
1 C [ 5
&
1 B | A
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